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1 bar = 10° Pa = 10° N/m"* = 98kgf/10 em” = ﬁk‘gf/cm
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1.013250 bar = 1.033228 kgf/cm” = 10.33257 mH;0

1 atm
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1 torr = 1mmHg

pmHg

10.2 ALW = (Static and Dynamic Pressures)
(RoEd 1;3" 14.2)

Mechanical measurements 6" ed. Beckwith etc, Pearson Prentice Hall,

dynamic pressure = stagnation pressure - static pressure

10.3 Pressure Measuring Systems

Manometer: LAY G4, A4 $Y54 (54 $F 2
A]5]

Bourdon tube gage; A&, A

diaphragm type : &4Ql 49 &7

strain gage type

rok
2
fol
19



8o
or

Ko

m
K <]
clc)

o RA+eRe] £

o
old

W kgt =

a

o

ol
50

==

[e]

500kgf/cm? 77}A]

ady A

Z|tf: 5,000kef/cm?

x ARt

manometry;

olJ

= o

S

o] west of
(1 14.5)

o
aTr
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(2) Elastic Diaphragms



* Diaphragmo] AR&-E]= 27} $187]
(a) Resistance Strain gage

1,23 14.12)
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(b) Inductive type

(c) Piezoelectric pressure cells

10.5 Strain gage pressure cell

(ZnEH 1; 29 14.17)
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2 (2 + 22 2.1% ): 0.673x107 Q/Q psi , 0.01% %93} (70 ~ 180 F HYY m)

a

7t (manganese); 1.692x107 Q/Q psi , 0.2% x5} (70 ~ 180 °F ¥ o)
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2) A% (Low pressure) &%
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g7y 2o @32 4™
ZX (very low); 1 mmHgo]3s}
2] (ultra low); 107 pmHg (nmHg) o]3}
1 torr = 1 mmHg
AP (a) A9 AEOR oplEl: =
(b) AA, IR =39 EHWSE ol&ste 54 =4 olste] dHFE 4%

(1) McLeod gage

Boyle®] A|A]

(3) ol=st Alo]A]

1x10° ~ 1 pmHg olsto] &= &7
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